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Comparison of baseline to vendor—1 filters
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Comparison of baseline to vendor—2 filters
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Comparison of baseline to vendor—3 filter
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Example cuts to remove leakage (on baseline)
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% of outliers (E‘E‘l—>0.l)
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LSST Filter Study with SNe Photo—Z.
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SN1la Peak — Adding 50% more H20 from nominal

Normal Leaks Leaks Suppressed

S0% more H20 vapor 50% more H20 vapor
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On right, | removed leaks completely. Left are normal leaks. Leaks produce bias in Sn2a
photometry, particulary u and g-band leaks. You can see the bais from the leaks in these

Bands (on left).



50% more H20 vapor
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50% more Ozone (O3)
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50% more Ozone (O3)
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Number of Supemovae
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